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QUESTION 1

Given the code fragment: 

What is the result? 

A. A compilation error occurs at line n1. 

B. Jack 

C. The program prints either Jack or Queen. 

D. Queen 

Correct Answer: A 

 

 

QUESTION 2

You have been asked to develop a Java program that prints the elements of an array in reverse order. 

Which looping statement cannot be used to meet the requirement? 

A. enhanced for 

B. standard for 
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C. while 

D. do-while 

Correct Answer: D 

Reference: https://www.javatpoint.com/java-program-to-print-the-elements-of-an-array-in-reverse-order 

 

QUESTION 3

Which statement is true about exception handling? 

A. At least one catch block must accompany a try statement. 

B. All statements in a try block are executed, even if an exception occurs in the middle of the try block. 

C. At least one statement in a try block must throw an exception. 

D. All catch blocks must be ordered from general to most specific. 

Correct Answer: D 

Reference: https://www.javatpoint.com/multiple-catch-block-in-java 

 

QUESTION 4
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Given the code fragment: 

What is the result? 

A. 1 

B. 3 

C. 5 

D. Nothing is printed. 
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Correct Answer: C 

 

 

QUESTION 5

Given: Which statement is true about the main method? 

A. It can be a non-static method. 

B. Its parameter can be of type Integer []. 

C. It cannot be defined in a non-public class. 

D. It cannot be invoked by its name. 

Correct Answer: D 
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